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A3 1:
g g H1 g BT 3R 307 TR B Sid PITT: 3x = 20 +18
g3 1:

o 3w=2x+18 =  3x-2x=I8 =  #x=18
Sd:
3x=2x+18
— 3x18=2x18+18 =  54=36+18 =  54=54
= L.H.S. = RHS.
g4, 8 ol o
M3 2:
o iU B 50 PIfTE 3R 30 TR DI olid BINT: 5¢—3=3r—5
g, 3aT 2:
5t—3=3t-5
=3 5t-3t=-5+3 = 2t=-2 =1 r=_72=—1
WId: 5t—3=3r—-5
=% 5x(—-1)-3=3%x(-1)-5 = 5-3=-3-5 =-8=-8
— L.H.S.=RHS.
g4, 9% I8l &
M3 3:
g gt ) g9 BIT 3R 3T IR Pl 6 BT 50+9 =5+ 3x
#.3 3:
5x+9=5+3x
-4
= 5x—3x=5-9 = 2x=—4 = x=?:—2

SIGE 5x+9=5+3x
= 5x(-2)+9=5+3%x(-2) = -10+9=5-6 = —1=-1
y L.H.S. = R.H.S., 2afelt I8 I8l gl

A3 4:
g gHe0 &1 g BT 3T 30 IR D1 §d BT 4243 =642z
.3 4:

4z4+3=6+2z

= Az-Tz=6-3 = Dz=3 :>z=§

SiE: 4z+3=6+2z
=3 4x§+3:6+2x% = 2x3+3=6+3 =64+3=9 =9=9

- L.H.S. = R.H.S., 39T, T8 Te! B
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AR S:
9 Trfierr &1 8@ PO 3R 3T IR B &1 d PO 2x—1=14—x
g IS5
2x—1=14—x
= 2x+x=14+1 = Jx=15 :>x=§=5

WE: 2x—1=14—x
— 2x5—=1=14-5 =10-1=9 =9=9

- L.H.S. = RH.S., 39fe1T, T8 ¥&t g1

AR 6:
5 Tl B g I SR U ITR $1 6ild BT 8x+4=3(x—1)+7

#. 3T 6:
8x+4:3(x~l)+7

= 8x+4=3x-3+7 = 8x—3x=-3+7-4 = Sx=0
0
= x=—=0
| 5
il 8x+4=3(x-1)+7
= 8x0+4=3(0-1)+7 = 0+4=3x(-1)+7 = 4=-3+7
- 4=4 = LH.S. = RHS.
ERINIURIAS I
HARA7:
% FHieRU 1 & 1Y SR 30+ IR S §ild DT x=§(x+10)
E.IWR7:
4
x=—(x+10
2 (x+10)
=X 5x=4(x+10) = 5x=4x+40 = 5x—4x=40 = x=40

Sl x=%(x+ 10)

= 40:%(40“0) :>40=§x50 = 40=4x10

= LH.S. = RH.S., 39, I8 W1 &
M3 8:
ﬁ?aﬁwaﬁmaﬁmaﬂ?mwaﬁaﬁmz%ﬂ{;w
£ 8:

%+]=%+3
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2x_Tx_4 4 = 1020x 5 3p=30 =x=2-ig
3 15 15 3
a—“fa:"‘_;+1=k+3
2x10 7x10 20 14 20+3 1449
+1= +3 = —+1=—+3 = =—
3 15 3 3 3 3
é = 2 = L.H.S. = R.H.S.
3 3
S9fT, I8 |8l 7
A3 9:
ﬁgﬂﬁmﬁwﬁmaﬁ?mﬁwaﬁwﬁaﬁmzz)'ﬁ:?—y
#.3W:
2y.|..§:2_6._
3 3
26-5 21 21 7
=% 2y+y=——— = 3y=— = 3y= = y=——=-—
’ > i 3 T 3x3 3
S 2y+§—?—y
7 5 26 7 14 5 26 7 14+5 26-7
= 2X—F—=——— =L ——— = =
3 3 3 3 3 3 3 3 3 3
13 = ]39 = L.H.S.=R.H.S.
gHferg, 7% WEt B
A3 10:
g qefle<u B B FIT 3R ST IR B ST BN 3m = 5m—>
.3 10:
311'12511‘11—§
= 3.'11—5111:_—8 ::>—2m:_—8 = m= 8 = m=—
5><(—2)
Sild: 3m=5m——
4 4 8 12 8 12 20-8 12 12
= 3x—=5x——— L =4 = == ==
5 5 5 5 5 5 5 5
= L.H.S. = R.H.S.
YT, I8 981
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